NAME:_____________________________________________________________________________
SECTION :__________

Freshman Clinic II

Spring 2005                                                                                        Dr. Kauser Jahan

QUIZ # 2:  GAS TRANSFER
1.  Dr. Jahan’s class is testing a diffuser in two types of water for gas transfer in the laboratory.  The sources of water are TAP and SEAWATER.  If experimental conditions are similar for Temperature, Pressure, Volume of Water tested, Reactor size, will the results be the same for the two types of water?
YES     NO

If   “NO”  which parameter will impact your results? _____________________________
2. Two aerators were tested for adding oxygen to the Rowan Pond.  The data was assumed to follow the common gas transfer kinetics equation and the plots are shown below.  
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a)   What are the values of the gas transfer coefficient in min-1?

Airmax  ____________________________       Wonder ______________________

   b) What are the values of the gas transfer coefficient in day-1?    Aeration kinetics can be  expressed as follows:       ln(C*-Ct) = ln(C*-Co) – KLa t
Airmax  ____________________________       Wonder ______________________

Which aerator is more efficient?  ___________________________
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A Freshman Class is testing a diffuser for an aquarium.  The class is evaluating its gas transfer coefficient.  The following data was collected:

	Time 
minute
	Dissolved Oxygen Concentration  Ct

mg/L  
	ln(C*-Ct)

	1
	4
	1.64

	3
	5.7
	1.25


The temperature was noted to be 23oC.  At this temperature the C* of the water was found to be 9.2 mg/L

The class noted that a team member forgot to note the initial DO (Co mg/L) concentration of the water. 

          Aeration kinetics can be expressed as follows:       ln(C*-Ct) = ln(C*-Co) – KLa t
a) What is the value of KLa in min-1?

b)  What is the value of Co in mg/L

























